Recommended Tools Unit Assembly with Stand Up Surface

Screw Gun

Package Contents Hardware Used

@DDDMDD» 3/4” Wood Screw
DDDDDDDDDDD.U' 7/8” Wood Screw

)-)DDDDMM 1-1/4” Wood Screw
%}WE} 1" Zinc Wood Screw

Stand Up
Surface

Stand Up Surface L-Bracket Linking Hook & Latch
Legs

Upholstered Unit

Step 1

Attach the legs to the bottom of the uphol-
stered unit using 1 inch long large wood
screws. The base will have pilot holes to locate
the screws.

Notice To Installers: Failure to comply with installation instructions will compromise the safety, durability and performance of this product, which may risk injury to the user of this
product and/or diminish the product life cycle. Jasper Group assumes no liability in these instances.

JASPER jsifurniture.com 812.482.3204 O 225 Clay Street/ PO Box 231
E J S | gsgﬁg 800.457.4511 812.482.1548 F Jasper, Indiana 47546




Step 2 Unit Assembly with Stand Up Surface

Attach the stand up surface to the top (Continued)
of the legs using 7/8” long black wood
screws. The work surface will have pre-
drilled pilot holes to locate the screws.

Pilot Hole

7/8” Long Black
Wood Screw

Step 3a
Attach the “L” brackets to the Stand
Up Surface using 3/4” long black wood
screws. Use pre-drilled pilot holes to
locate the screws.
Important: Make sure to use the
3/4” long screw when attaching the
brackets to the stand up surface.

A longer screw will damage the top. 3/4” Long

Step 3b

Attach brackets to upholstered unit
using 1-1/4 long back wood screws.
Important: Make sure the top is
centered on the headrest before
screwing the angle bracket into
the upholstered unit.

1-1/4” Long
Screw

Notice To Installers: Failure to comply with installation instructions will compromise the safety, durability and performance of this product, which may risk injury to the user of this
product and/or diminish the product life cycle. Jasper Group assumes no liability in these instances.

JASPER jsifurniture.com 812.482.3204 O 225 Clay Street/ PO Box 231
E J S | gsgﬁg 800.457.4511 812.482.1548 F Jasper, Indiana 47546




Step 4 Unit Assembly with Stand Up Surface

Attach the two (2) linking latches and two (Continued)
(2) linking hooks using 1-1/4” long black
wood screws as shown. There will be a
predrilled hole for each piece of hardware
for the first screw. Line up hardware
perpendicular to the base and drive in the
second screw to secure in place.

Linking

Linking
Latch

Step 5

To create the 3-piece media group,
the center section will have both
linking latches and hooks, while the
right unit will have only the latches
on the corresponding side, and the
left unit will only have the hooks on
the corresponding side as shown.

Step 6

Make sure to level the units so that
the bases are flush and there are
no gaps between the headrests.

Notice To Installers: Failure to comply with installation instructions will compromise the safety, durability and performance of this product, which may risk injury to the user of this
product and/or diminish the product life cycle. Jasper Group assumes no liability in these instances.

JASPER jsifurniture.com 812.482.3204 O 225 Clay Street / PO Box 231
E J S | gsgﬁg 800.457.4511 812.482.1548 F Jasper, Indiana 47546




